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PART - iate answer
. : the most appropria
Note : i) Answer all the questions. it) czu?.-fﬁte the option code and the
from the given four alternatives an 12X 1=12
corresponding answer. P
1. The unit of electrical energy is . c) Ampere d) Uijm -
a) Watt b) Kilowatt NOW ¢ 1.25 x 103Hz at 344mSgl, W& waje
2. If a sound wave travels with a frequency : oo >
length will be . 02752 WPy 52m
a) 27.52m b) ETSF.EI‘I'I_ sonle C:_; 0.02 ,:-m ' p : w
3. Proton - proton chain reaction is an ex T e fudlon s d) F- decay
a) Nuclear fission b) « - decay c) nuclear _’Hﬁiﬂ,ﬂ:}- . .} H
4. 25% alcohol solution means Y i . RN
a) 25 alcohol in 100 ml of water b) 25 mf 3'??‘10','T‘ffrﬁ’oﬂf;iir
c) 25ml alcohol in 75ml water d) -jf'_r"'l_f"fﬂ'“-"} i< :
5. Photolysis is a decomposition reaction caused Dy"..." . Ses™
a) hea¥ b) electricity o fight dj mechanical energy
6. The body of leach has A N J
a) 23 segments  b) 33 segments c) 38 seyments d) _-;I..l.sc-t_".lrnents
7. Vomitting centre is located in N, 2/)Medulla oblongata
b) stomach c) Cerebrum . g _dif Hypothalamus
8. Hormone which is called as "Time ness@a@es" ... . ‘
a) prolactin b) melatonin = ' } Oxytocir d) Thyroxin
9. Estrogen is secreted by
a) Anterior pituitary b) PripvdMgfollicle c) Graffian follicle d) corpus luteum
10. The ‘use and disuse theafy’ wasiproposed by ............ . @) Charles Darwin
b) Ernst Haeckel Cl=lean Baq_ﬁse Lamark d) Gregor Mendel
11. Polyphagia is a condition seemif
- a) Obesity \ b]‘ﬁdi_gtgetes mellitus c) Diabetes insipidus d) AIDS
12. Which software Is used t6 create animation?
a) paint b) PDF c) Ms- word d) scratch
et PART - II
Note : Answer anhy seven questions. Question No. 22 is Compulsory.
13. Mgrk'hﬁggﬁqr{gct choice. 7 %2t
Assertion :‘Myopia is due to the increase in the converging power of eye lens.
4 ___F)E?5:”E"waia can be corrected with the help of concave lens.
¢ ‘@)llboth asserti .
a xéssng'tinn. lon and reason are true and reason is the correct explanation of
'b)If both assertion and r ;
of assertion. €ason are true but reason is not the correct explanation
¢) Assertion is true but reaso P
14. Explain why, the ceilings of nls false. d) Assertion is false but reason is true,
15. , gs of concert halls are curved?

www. wayiosuceess.org 1

True or false, If false
. give the corre
a) MnEEIE‘,F's PEri'Dd'iE table is e C’fSI‘atement.

b} All ores are minerals : but a| n-uin';?rI o omic mass,

é?ls cannot be called as ores.
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16.

17.
18.

19,

20.
21.

22.

23
24,
25,

26.

a7
28.
29,
30.
i B
32.

33, a) Defive the id€al gas equation. b) Define ene kilo calorie. (OR)

=

i

Fill in the blanks,

a) The equilibrium attained during the melting of ice is known as ......... .
b) Chemical Volcano Is an example for ........ type of reaction,
Why is the colour of blood red?

Name the gaseous plant hormone. Discuss its two different actions in plants,
Match the following.

a) autosomes - 931

b) Diploid condition - 22 pair of chromosomes _

c) Allosome - 2n P

d) Dihybrid ratie. - 23 pair of chromosome -
State the applications of DNA finger printing technigue i, o 4;1,‘_,
Expand the following abbreviation [ =T
a) BMI b) AIDS ) HIV aJTED

A charge of 12 coulomb flows through a bulb In 6 secand. Wty thetegrfrent

through the bulb? NS D
PART - III
Note : Answer any seven questions. Questions Np. 32 Is cofmpulsory.

Give the applications of universal law of gravitatiog, W

Give any four uses of radio isotopes in the field Af med h‘-"uuu

Write short note on  \WWW. alV[eX[ﬁESSﬁ.In

a) Saturated solution "0 ) Wggatiratad solutior
Arrive at, systematically, the IUPAC nagfic of the compound

CH5 - CH; = CH3 - OH. 2N )

Explain the male reproductive sysfem gf raB¥with a labelled dizgram.

Classify neurons based on its struekeire. L
Explain Gynocium of flowering plantse, _
Explain chromosome tygﬁ"‘bﬁ;@lﬁ on the position of centromere.
Define Ethnobotany andiwrite its importance.
How many grams ar€ thege in the following?
a) 2 moles of hydfogen molecule.
b) 5 mole of gulph"ur miaigCUle,
: \ | PART - IV
Note : gnsvﬁrall the questions. Draw diagrams wherever nece;ia;y.: -
is an‘echo? '
Jr:%%;:a{:;twﬁ conditions necessarjy for hearing an echo.
“#):What ‘are the medical applications of echo?

wc) How can you calculate the speed of sound using echo?

34. a) Explain the method of preventing metal corrosion.

35.

b) Name the acid that renders atuminiq:xm pasm;.re. T;hy?
¢) Identify the bond between H and F in HFfrnn E:gtic;n
a) Explain the factors influencing the rate %l_z':?re ;
b) If the pH of solution .Is 4.5, What ILfts ;:u5 s
Differentiate : Aerobic and Anaerobic resp ;DR
E; Why are the factors affecting photosynthesis. (OR)

Enumerate the importance of forest.

(OR)

FT] 10 - Siffsfued EM Page -2
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Namaidkal ~ ° REVISION TEST - 2023
10 - sta SCIENCE RegNo
Time-3.00 Hours  ° : L Marks: 75 -
; PART -1 .
Choose the best answer : v 42x1 =12
1. Ifthe Earth Shrinks to 50% of its real radius its mass remaining the same, the
weight of a body on the Earthwill............. e
a) decrease by 50% ' ‘b) increase by 50%'
c) decrease by 25% d) increase by 300%
2. Magnification of a convexlensis............. {;
a) Positive b) negative c) either positive or negative d) zero

3. Inasimple circuit, why does the bulb glow when you close the switch?
a) The switch produces electricity = b) closing the switch cbmpletes the circuit
“¢) closing the switch breaks the circuit d) the bulb is getting charjgad
47 ... .. aprons are used to protect us from gamma radiations ol
a} Lead oxide b) Iron c)lead . d) aluminium S

"~ 5. Which of the following representl amu?

- a)massofa0-12 atom < b)mass of a hydrogen atom
.#'c)%thofthemass6fac-12atom d}massnfﬂ-16atnm
{30 The basis ofrnudern perodic law IS N
) atomic nu mbenh] atumlnmass C)ist 1§ntupic as:
7. The numberof components ina bic Tary sc lition is......
a)2 - wvﬁh)faﬂ"v c) 4l o Jae :
8. The secondary suffix i N 1T : 2 0f
a) -0l b) -oic acid e) -al d) - one

9. kerb's cycle takes placein ., ...
a) chloroplast b) mitochordrial malrix
c)stomata d) inner mutochondrial membrare

10. The segments ofleech are known as....... _
a) metameres somiles b) proglottids c) strobila d) all the above

11. Toincrease the sugar production in sugar canes they are sprayed with.............
a)aurin | b)cytokinin  c) gibberellins  d) Ethylene

12. The............units from the back bone of the DNA ;
a)s garbnn sugar b)phosphate c) nitrogenous bases  d) sugar phosphate
Part - Il _ |
ll. Aswerany 7 question. question no 22 is cumpulsary 7x2=14

13, State newton's second law
14, Trueon false (If false give the correct statement)
i) The gram atomic mass of an element has no unit ii) Molar mass of CO, is 42g
15. Answer the following questions using the data given below
i)Aand R are correct, R explains the A
ii) Ais correct, Ris wrong i) A is wrong, Ris correct  iv)Aand R are cormrect, explain A
Assertion: An uncleaned copper resselis overed with greenish Iayer
Reasion: copper is nnt attacked by alkali
. - Science -FR-NKL- ué.tlrhfn-1
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 WAY TO SUCCESS
Y . .
E' 16.' Differentiate reversible and Irreversible reactions

17.
18.
19.
20.
21,
22,

Draw and label the structure of oxysomes
Whatis the shape of RBC in human blood?
How can you determine the age of the-fossils?
Metion the diseases caused by lubaccn smoke
whal is stage?

If you keeps ice al 0°C and water at 0°C in either of your hands in which hand you will

feel more chillness? why?
' PART -1l

Ill. Answer any 7 question ( question no 32 Is compulsory )

23,
24,
25,
26.
27.
28,

List any four properties of light

Distinguish between the resistivity and conduclivity of a conduction
a) Name three animals which can hear ultmsanic vibration b) Explamwhy. ceilings

of concert halls are curved
Given an example each

i) gas In liquid i} solid is liquid lii) solid in snlid iv) gasin gas . B

How is ethanonic acid prepared from ethanol? given iha chemlcal Equaliun :

Match colums, |1, Il and Ill comrectly b T &
| ! : 1.
Organs Membranous coveing location
Brain Pleure abdominal cavity
Kidney C'!pwln mediastinum — N
gart”™ ; endosed in thoracic cawtv e
Cranial cavity

29 rnruEuEI d and nnn—meduliated nerve fibre - Differentate

" /30, Wrile the characteristic of-insect Polinaled flowers
31. state the applications of DNA fi ingerprinting technique

PART -1V

IV Answer all the question

33.

34.

35.

Describe rocket propulsion (or)

7 32, WhattsthaPH of 1.0x10™* Molar solution 6f KOH?

what is a nuclear reactor? Explain ils essential parts with their Iunclmn
Given the salient features of * modern atomic theory” (or)
a) state the reason for additions of caustic alkalic o bauxite are dunng punrcaunn

of bouxite

b) Along with cryalite and alumina, another substance is added to the electralyte
‘mixture. name the substance and given one reason for the addition
Describe and name three stages of cellular respiration that aerobic organisms use to

obtain energy from glocose (or)

a) Tidalenergy is.......... lype of energy

b) What will happen if trees are cut down?

¢) What are the advantages of using biogas?

www. wayiosuceess.org 4
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V10S Virudhunagar District Cmmon Examinations m

: First Revision Tes{- January 2023
Virudhunagar

Time: 3.00 Hrs. 1 SCIENCE Maximum Marks: 75

Note: i) Answer all questions. 12x1=12

il) Choose the most suitable a

1) The eye defect 'presbyopia’ can Qe corrected by

a) Convex lens b) Concave le ¢) Convex mirror dYBi focal 1qh'ses_‘
2) The value of universal das constarit T e
a) 3.81 1 mol! K™! b) 8.03 ) mol™* K™
c) 1.38 1 mol™* K™ dy8.31 ] mol” b K'
. 3) The frequency which is audible to the human ear is .
| a) 50 KHz b)20KHz | ©) 15000 KHz , ai’ 10000 KHz
/ 4) The gram molecular mﬁ;sjs of oxygen molecule is h , ¥
' a) 16g b) 18g c)32g° | Id) 179
5) White enamel coating of our teeth is___ = the hardest substance in our
body.
a) Sodium phosphate : W_Qﬂ;ﬂmsphat&—a
c) Potassium phosphate -~ d)Ammonium phosphate
8)' Which of the following are used 88 afiaesthetics?
a) Carboxylic acids - /78 -Opfthers .
o G)ESters. . . . ' d) Aldehydes

7) Which is formed l:!urﬁng anaemblc ration?
' " a) Carbohydrate Plﬁfhyl alcohol  €) Acetyl CoA d) Pyruvate
8) Which one of the following i§ an 1 1UCD? -

a)Copper - T.¢ - '&J Dralmls c) Diaphragm d) Tubectc;mv
9) The term ch:‘oﬁin‘sﬂmes‘ was first coined by '
a) TH. Morgan % b) R.C.Punnett
. J_ywardgm d) Watson and Crick
10) Pusa mml is.a disease resistant variety af
JSugar&ne b) Rice c} ) Cow pea d) Maize
11} oi:aﬁﬁct is introduced in the year :
_ a‘q,znﬂ b) 2010 ! c) 2008 d) 2015
123 “A rénewable source of energy is
f-é.,_. '\ “u.a) Petroleumn b) Ceal 1 c) Nuclear fuel d)/Trees
. ',,..,‘1,!l &7 \ |l —
- PART - II _
Answer any 7 questions: [Q.No. 22 is compulsory] 7x2=14

13) State Newton's second law.

14) Why does the sky appear in blueicolour?

15) Define one calorie.

16) Give any two uses of ethanol. | v
17) Draw the structuré of sperm and|label the parts,

18) What is photosynthesis and whe {n a cell does it occur?

19) What are synthetic auxins? Give ?Jtaﬂ'lﬂﬂ

. - W . 'II

.Wa}rtasu CCESS.0rg .;_5_ wiateam 100@email. com




Wﬁ']ﬁ%ﬂUCCESS

; y’,. 20) Define triple fusion.
21) How is a cancer cell different frobn a normal cell?
22) Calculate the amount of enerdy released when a radioactive substance

undergoes fusion and results in § mass defect of 2 kg. ‘2_ — 1 L'L’
2N DY S 1y

] ~ PARY -1I1 [+ 3}![;0 J
Answer any 7 questions: [Q.No. 32.is @mpulsory] = 'y i 7%x4=28
I 23) What are the types of inertia? G e an example for each type. -

l 24) List the merits of LED bulb,
25) Write any four features of natuidl and artificial radjoactivity.
26) Derive the relationship between Relative molecular mass and vap&uur qensfw
i 27) Classify the following campuundﬁ based on the pattern of, cagbbn ‘chain and
give their structural formula (i) Propane (ii) Eenzeng {ui) Cyc!ubutane
(iv) Furan. _ i )
28) a) List out the parasitic adaptations in leech. ' 3;_/ '
b) Who discovered Rh factor? Why was it named so?
29) With a neat labelled diagram explain the struﬂi.ire'ﬁf 2 neuron.
30) Write the physiological effects of glbbereihns
31) a) What is evolution? g '
b) Discuss the importance of r:-‘r-:rtae:w;.hnq::~|;:ngr?{r En the field of medicine.
' 32) Calculate the current and the rag@taa;e of @ 100w, 200V electric I:ulh in an

L

3 electric circuit. &R LT A‘ ,g, !F@E e
. SIS 7 , 4
Pﬁ.qr |
Answer ALL questions. Eachrquestion carries seven marl‘u, 3Ix7=21

[Draw diagram wherever necessary]
33) a) List any five'properties of light.

b) State S ITs. law. (OR)

a) What do you understand by the term 'ultrasonic vibratian ?

b) Stat;e three usés of ultrasonic vibrations.

c), Naimg four animals which can hear ultrasonic vibrations.. : ﬁ
| 34) a) In wﬁ&way hygroscopic substances differ from deliquescent substances.
: ‘byWhat is meant by binary sniutiun?

. &) Define solubility, (OR)
[ . % a)Explain the types of double displacement reactions with examples.
h «"'h S ..%b} If the pH. nfamm.asumhat is its pOH?
F ) 35) a) How is the structure of DNA urgamsed‘-’ What is the hlntaglcal signlﬂcance ql
3 of DNA? '
b) What are Okazaki fragments

5

F a) What are the various routes P\r which transmission of human immuno
l ~ deficiency virus takes place?. |
~b) What are the contributing Factum of obesity?
e ) Huw do you differentiate rwm+iﬂgnus organs from ana]ugdus organs?

; - www.waytosuccess.org 6 wistearm 1 00@gmail. co;
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WAY TO SUCCESS FIRST REVISION EXAM - 2023

§TD - X ARKS 7
TIME : 3.00 Hrs SCIENCE MARKS : 76
TrirRpatuE BECTION - A
I, Choose the corvec! answer ! 12112
1. Unil ol dioactivity is
a) Roenigen  b) cure ¢) Becqueral Al the above
2 Which of the following denotes the high lemparature?
a) 1 colsius bi | ketvin ) 1 Fahrenheit d) All aro ogual
3. Inartia of a body dependa on oo

a) weight of the object  b) accleration due 1o gravity of the planat

) mass of the objecl diBotha &b j
4. Which ol the following is a triatomic molecule? %

a) Glucose b) Hollum ¢ Carbon dioxide  d) Hydr
5. Molecular formula of Blue ritrol is ............. ;
a) CaSo, -2HO b) Gypsum c) CaO y 0

6. TFM in soaps represents ........ content in soap.
a) mineral b) vitamin e Tatty carbohydrate
7. Which is formed during anaerobic respiration

a) Carbohydrate b) Ethyl aleohol - d) Pyruvate
8 Which of tha lollowing shows correct composit

a) plasma - blood + lymphocyte gerum -‘hlood + Fibrinogen

¢) Lymph - plasma + RBC + WBC Y Blaod - plasma + RBC + WBC + platelets
8. To increase the sugar production in gagarcanes hey are sprayed with .......

I} Auin b) eylokinin d) Ethylene

aophate u]Nllrugmuahamdﬁmum
an atral'

d) Maize
nerCial and inexhaustible source of enargy Is ...
energy  ¢) Wind energy d) Tharmal energy
SECTION - B
seven Questions. Q.No. 22 Is compulsory Tx2z14

following statements are true or false, If false explain why 7

115 displacemont law
o) Gabanisation - Noble gas slemerts A
b) Redox reaction aoating with Zn ¢
¢) Dental filling Sliverin amakgam -

10 - SCIENCE - PAGE 1
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xﬂﬁﬂlﬁf@&ﬁfﬁlg ible and Irreversible reactions.

17. How is diastema formed in Rabbit?
18. Draw and label the structura of oxysoma.
19. The complete events of cardiac cycle last for 0.8 sec. What is the timing for each event?
20. How can you delermine the age of the fossils?
21. What is stage?
22. Calculate the current through a 100w, 200v electric bulb in an electric circuit of your house
SECTION-C
Answer any seven Questions. Q.No. 32 is compulsory Txa4=28
23. Describe rocket propulsion.
24, a) State Joula's law of heating. b) How does a fuse wire protect electrical appliances?
25. a) Ais a silvery white metal, A combines with O° o form B at 800°C, the alloy of A :s uaed e
making the aricraft. Find A and B. | n
b) What is rust? Give the equation for formation of rust.
26. Whal is a chemical equilibrium? What are its characteristics?
_27. Write the importance of transpiration.
~28. a) What is respiralory quotient? b) Write the overall equation of phnmsvnlhes:s
29. How nerve impulses are transferred from one neutron to next neutron?
30. Why is euploidy considered to be advantages fo both plants and ahimalg®s
_31. With a neat labelled diagram, explain the techniques mvnluqd in gene l:lnnmg
© 32. Asolution is prepared by dissolving 45g of sugar in 1aﬁgnt water, Galculate the mass
prercentage of solute. ) |
EEUHQ!&-,D ‘4;3-‘_.;‘_ ¥ 4
Answer all the Questions in detail. [ 3x7=21
33. a) (i) What is an echo? (1) —yy ¥
(ii) State two condtions necessary, iur hearing an achu (2)
(iif) What are the medical app!maﬂuns of echo? (2)
(iv) How can you calculate tlm speed qﬂ sound using echo? (2) (OR)
b) /GH What is power of auagmmadahfaf eye? (2)
i) Differentiate the eye dﬁlaats Myopia and Hypermetropia. (3)
ﬂll] Whal is thi value of the rl’ear point and far point of the human eye? (2)

fif) Give the salient features of “Modem atomic theory”. (5} (OR)
b) (i) Differentiate sd%ips and detergents. (3)
i) Explain the mechanism of cleaning action of soap. (4)
m ; ‘the phases of menstrual cycle?. Indicate the changes in the ovary and
rus. (5)
{ii) is the role of parathormone? (2) (OR)
b) (i) Changes in lifestyle is a risk factor for occurence of cardiavascular diseases. Can it be
modified? If yes suggest measures for prevention, (5) (OR)
(if) Solar energy Is a renewable energy. How? (2)

10- SCIENCE - PAGE 2
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Wm@@EﬁRST REVISION TEST & 20 23 | I , j
- Std E
1:"i-r?e : 35.00 Hrs. SEYene ~ Marks :75
Part-1
Answer all the questions. 12X 1=12
1. One kilogram force equals to
a) 9.8 dyne b) 9.8 X 10* N ¢) 980 dyne d) 9.8 X 10%dyne
2.  SI unit of resistance is .
a) mho b) joule c) ohm d) ohmmeter
3, Inthe nuclear reaction g" _a=denr o 1 the value of AR Z
a)8§, 6 b) B, 4 c) 4,8 d) 12, 6
4. Atoms of different elements having same number of ..., are called isotones.
a) neutrons b) atomic number -:)'a'\tc;mic mass d)“protons |
5. Among the given species A', A* and A, the smallest one ip SIZ8 IS i sievrernrancans .
a) A by A* c) A )0

6. When pressure is increased at constant temperature, the selubility of gases in liquid

.....................

é] no change b) increases ' c) decreases d) no reaction *
7. The endarch condition is the characteristic feature of

a) root b) stem c)leaves d) flower
8. Nerve cells do not posses

a) neurilemma b) sarcolemma ) axon d) dendrites
9. LH is secreted by

a) Adrenal gland  b) Thyroid gland c) Anterior pitditary d) Hypothalamus
10. A sexual reproduction takes place through budding in ......coiiviennninnn &

a) amoeba b) yeast c) plasmodium d) bacteria
11. The ciecevsneniwsn,. units form the backbone of the DNA,

a) 5 carben.sugar b) phosphate c) Nitrogenous bases Id}-sugar phosphate
12. All files are storedyin the ...ooiianiiiiniiinn : ’ :

a) folder b) box ¢) paint d) scanner

Part - II ]
Answer any seven questions. (Q.No. 22 is compulsory) 7X2 =14

13:. Why does the sky appear in blue colour?
14. Define critical mass. '

15. What is aqueous and non-aqueous solution? Give an example.

16. If the pH value of solution is zero then what will be the nature of the solution? Give
reason. |

17. Draw the label the structure of oxysames.
18. How does leech suck blood from the host?

RMI 10 - engSafiued (EM) udmid -1
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19.
20.
21.
22,

23.

24,

25,
26.

27,
28,
29.
30.

31.
32

33,

34,

35,

Who discoveréd Rh factor? Why was it named so?

What is pollination?

What do you understand by the term phenotype and genotype?
A torch bulb is rated at 3v and 600mA. Calculate its resistance.

Part - III
Answer any seven questions. (Q.No. 32 is compulsory) 7X4 =28
i) Fillup: a) Opening a door : Moment of force, opening a water tap : ............ .

b) Pushing a bus by a group of people : Like parallel forces,

TG BNWAE L vovinmmerri

ii) The power of a lens is -2D. Find the focal length of a lens.
Match it :

a) Electric current - Volt

b) Potential difference - Ohm meter

c) Resistivity - Watt

d) Electric power - ‘Ampere

Difference between the sound and light waves.

a) Define - Relative Atomic Mass.  b) Give any two examples for hetero diatomic
molecules.

How do detergents cause water pollution? Suggest remedial measures to prevent
this pollution. ;
i) Why are the rings of cartﬂages'hund in trachea of rabbit?
i} Define reflex are.
Draw the external structdre of human heart and label the parts.
Define Ethnobotany and write Tt"s importance.
Explain about Gene therapy. . 3 ‘T-'\‘\
a) Give the function of control rods in a nuclear reactor. :
b) Calculate the pH of 1.0 X 10-* molar solution of HNO.,. i

Part - IV

Answer all the questiuns. Draw diagrams wherever necessary. 3 X7 =21
a) i) State Newton's law of motion. (5}

i) Write the uses of Telescope. (2) (OR) _
b) Compare the properties of Alpha, beta, and gamma radiations.

“a)i) Give the salient features of "modern atomic theory’, (5)

ii) Write any two applications of " Avogadro’s law. (2) (OR)
b) What is called homologous series? Give its characteristics.
a) i) What is respiratory quotient? (2)

if) What is eothesion? (2)

iii) What are the effects of hybrid rigour in animals? (3) (OR)

b) i) What are the various routes by which transmission of human immuno ﬁeﬂciﬂ-nﬁ'f
virus takes place? (3) i) Enumerate the importance of farest. (4)
RMI 10 - eyfsfineh (EM) usmid -2
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COMMON FIRST REVISION TEST - 2023

Standard X Reqg.No [ r IT F l |
SCIENCE
Yime: 3.00 hours Part - | Marks: 73
I Choose the correct answer 12x1=12
Impulse is equails 1o
a) rate of change of momentum b) rate of force and time
c) change of momentum d) rate of change of mass
2. Kilowatt hour is a unit of _
a) resistivity b) conductivity c) electricalenergy  d) electrical power
3. The frequency which is audible to the human earis
a) 50 KHz b) 20 KHz c) 15000 KH d) 10000 KHz
4. Gamma radiations are dangerous because
a) it affects eyes and bones b) It affect tissues
c) itproduce genetic disorder - d) it produces enormous amount of heat
5. Which of the followmg have inert gases 2 electrons in the outermost shell”?
a) He b) Ne * c)Ar L d)EK
6. The secondary suffix used in IUPAC nomenclature and aldehyde IS
a) ol b) —oic acid c)-al ¢ | d) —one
7. Which of the following is hydroscoplc in nature’? | '
a) ferric chloride ' 'b) copper sulphate pentahydrate
c) silica gel i LR -d) none of the above
8. Which of the following are used as anaesthetlcs'? | ¢
a) carboxylicacid b) ethers ~ c)esters  °  d) aldehydes
9. Which one of the following hormones is naturally not found in plants? -
a) 2,4-D b) GA, c) Gibberelin ~ ~ d) IAA
10. The ‘Use and disuse Theory’ was proposed by _ | L,
a) Charles Darwin L e e - DBEmSt Haeckel
¢) Jean Baptiste Lamarck - d) Gregor Mendel
11. Polyphapia is a condition seen.in |
a) obesity 44  b) diabetes mellitus
c) diabetes insipidus | d) ADS
12. Global warming will cause A il |
a) raise in level of oceans . b) melting of glaciers
C) sinking of islands - d) all of these
: Part - |l

I. Answer any 7 questions: (Q.No.22 is compulsory) 7x2=14

13 State Newton's'second law.
14. Define Dispersion of light.
15. Distinguish between ideal gas and real gas.




(2) X Science

Define Atomicity
What is rust? Give the equations for formation of rust

2 Whv does the reaction rate of a reaction increases on raising the termnperature”
Why should the light dependent reaction occur before the light independent reaction”

How are arteries and veins structurally different from one another?
| Differentiate between medullated and a non-medullated nerve fibre.
Ifa’5N and 15 N forces are acting opposite to one another. Find the resultant force and

the direction of action of the resultant force.
Part - lli

. Answer any 7 questions: (Q.No.32 is compulsory) 7x4=28
 Why a spanner with a long handle is preferred to tighten SCréws in heavy vehicles?

~ Draw a ray diagram.to show the-image formed by a convex lens when the object is

nlaced between f and 2f.
- Write any three features of natural and art|f|C|al radioactivity.

. Give an example each :
a) gas in liquid b) solid in I|qU|d - C) solid In solid d) gas in gas

~a) The aquatic animals live more in cold, region. Why?
b) Classify the following substances into deliquescent hydroscopic, conc.sulphuric

acid, copper sulphate penta hydrate silica gel,.calcium chloride and gypsum salit.
. How do detergents cause water pollutron’? Suggest remedial measures to prevent this

pollution.
. Draw and label the structure of oxysomes |

. What are Okazak fragments’?
- What isthe rmportance of rain water harvestrng’?

- The hydroxide lon concentration of a solution is 1 x 107" M. What is the pH of the
solution?

}/‘\

- Part-IV |
IV. Answer all the questions: : . 3x7=21
33 a) Derive the ideal gas equation.
(OR) .
What is nuclear reactor? Explain its essential parts and their functions.
Give the salient features of “Modern atomic theory”
‘ (OR)
Explain the types of double displacement reaction with example.
- With a neat labelled diagram, describe the parts of a typical angiospermic ovule
ke o - (OR)
b) . How is the structure of DNA organised? What is the biologlcal significance of

LER RS
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Cirrlmun First Revision Examination - January 2023

Time: 3.00 Hours SCIEHCE Marks: 75

PART-1I
I. Answer all the questions. 12x1=12
Choose the most suitable answer and write the code with the corresponding
answer.,
1) Impulse is equals o ....oeeis ]
a) rate of change of momentum b) rate of change of forge and time
c) change of momentum d) rate of change of mass
2) Power of a lens is -4D, then its focal length is ........ : _
a)am '\ b)-40m ¢) - 0.25m d)=2.5m
3) Proton - proten chain reaction Is an example of ...
a) Nuclear fission b) Nuclear fusion ¢). «-decay d) fi-decay
4) 1In the alumino thermic process the role of Al is .. ...
a) oxidizing agent b) reducing agent
c) hydrogenating agent d) Sulphurising agent

5) Which of the following is hygroscopicin nature?
a) ferric chloride b)), copper suiphate penta hydrate

E) Silica get ' d) None of the above
6) Puwdered CaCo, reacts more rapidly than flaky CaCu because of .........
a) Large 5urface area b) high pressure

¢) high concentration d) high temperature

7) Oxygen is produced at what poift during photosynthesis.
a) When ATP is gonverted to ADP b) When Co, in fixed
c) When H.Qis splitted d) All of these

8) Bipolar neuronsare found in
a) retina of eye ) Cerebral cortex

c)embryo., d) respiratory epithelium
a) Which organ act as both exocrine as well as endncrine gland?
a) Pancreas ' b) Kidney c) Liver d) Lungs

10) Anermaphyious| flowers, h?\fg eV
b} Small smocth stigma

T }‘:f""i!n stig'na 4
i}i"ctour’éﬁ ‘Iowéq d) Large feathery stigma

1"] ‘\""--.J. rr“rar:'r‘ ri ‘e whnc‘h sav~d rr-‘!'mns of lives and celebrated its 50"
birthday i=s
a) IRE O ol h}Iﬁlltl c) Atoniita 2 d) Ponni

12) All files are stoled i 'the .
a) Foldzr b) box c) Pal d) scanner

PART -11
7x2=14

II. Answerany 7 guestions. Q.No. 22 is compulsory.
13) Define muinent of a coupie

14) Why are traffic signals red in colour?
15) Why is tungsten metal used in bulbs, but not in fuse wires?

16) Daﬁne the term : Solution
17) Differentiate reversible and irreswarsible reactions?

wyBy Wel the deats targula of rabpi. wtsteam 100@gmail com
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Column 1 Column 11
1. Nisslis granules -  a. Forebrain
2. Hypothalamus -  b. Peripheral nervous system
3. Cerebellum - €. cyton
4. 5chwann cell - d, Hind brain

20) Draw the structure of gynoecium and lable its parts,
21) Define genetic engineering

22) The work done in moving a charge of 10¢ across two points in a circuil is

100 J. What is the potential difference between the points,

PART - III
III. Answer any 7 questions. Q.No. 32 is compulsory.

7%4 =28
23) Decribe rocket propulsion.

24) i. Distinguish between ideal gas and real gas
il Name any two devices, which are working on.the- heating effect of
electric current. '
25) L

Mention the two cases in which there is no Doppler effect in sound?
i, How are e-wastes generated?
26) In what way hygroscopic substances differ from deliguescent substarices.
27) Classfiy the following compounds based on the pattérn of carbon chain and
give their structural formula. ;
i) Propane ii) Benzene iii) Cyclobulane  iv) Furan
28) Write a short note on mesophyil. ¥
29) How are arteries and veins structurally different from one another?
30) 1) . Define triple fusion
i} What are okazagi fragments? :
31) What are the various routes by which transmission of human immunodeficiency
virus-takes place?

32) Calculate the number of water molecule present in gne drop of water whicl
weighs 0.18g. '

- PART -1V _
IV. Answer All the questions. Each questions carries seven marks, '
Draw diagram wherever necessary. <, Yo MR ™M, Ix7=21

33) a) Derive the ideal gas equation. Aot Roaren M e 1+=5
(OR) \sallren. b29%09

b) What are the factors that affect the speed of sound in gases.
34) a) i) Give the salient features of "Modern atomic theory”,

i) What is molar volume of a gas. fwm kat; STt
(OR)
b) ) What happens when MgSo,.7H,0 is heated write the appropriate equation.
i) Define solubility.
il Name the simplest ketone and give its structural formula.
35) a) 1) Who discovered Rh factor? Why was it named so?
i) What is bolting? How can it be induced artificially.
ii) The degenerated using of a kiwi is an acquired character. Why it Is an
acquired character?
(OR)
b) Explain the male reproductive system of rabbit with a labelled diagram

www waytosuccess org L# wtsteam 100@gmail com
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WAY TO SUCCESS
COMMON FIRST REVISION TEST - 2023

Thiruvallur Standard X Reg.No.
SCIENCE
Time: 3.00 hours Part - | Marks: 75
| Choose the correct answer 12x1=12
1. Impulse is equalé'to *
a) rate of change of momentum b) rate of force and time
¢) chapge of momentum d) rate of change of mass
2. Kilowatt hour is a unit of
a) resistivity b) conductivity c)electrical energy  d) electrical power
3. The frequency which is audible to the human ear is
a) 50 KHz b) 20KHz c) 15000 KH d) 10000 KHz
4. Gamma radiations are dangerous because
a) it affects eyes and bones b) It affect tissues
c) it produce genetic disorder d) it produces enormous amount of heat
5. Which of the following have inert gases 2 electrons in the outermost shell?
a) He b) Ne c) Ar d) Kr
6. The secondary suffix used in IUPAC nomenclature and aldehyde is
a) —ol b) -oic acid c) —al d) —one
7. Which of the following is hydroscopic in nature?
a) ferric chloride b) copper sulphate pentahydrate
c) silicagel . _d)none of the above
8. Which of the following are used as anaesthetics?
a) carboxylic acid b) ethers c) esters . d) aldehydes
9. Which one of the following hormones is naturally not found in plants?
a) 24-D b) G‘-ik3 ~ ¢) Gibberellin d) 1AA
10. The ‘Use and disuse Theory' was proposed by .
a) Charles Darwin b) Ernst Haeckel
c) Jean Baptiste Lamarck d) Gregor Mendel
11. Polyphapia is a condition seen in _
a) obesity b) diabetes mellitus |
¢) diabelesinsipidus ~d)AIDS
12. Global warming will cause |
a) raisein level of oceans b) melting of glaciers
¢) sinking of islands d) all of these
Part - Il ;
Il. Answer any 7 questions: (Q.No.22 is compulsory) . : 7x2=14

13. State Newton's second law.
14, Define Dispersion of light.
15. Distinguish between ideal gas and real gas.

www.waytosuccess.org 17 wiglean 19 %@ﬁ?ﬂ%er
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(@) X Science
16. Define Atomicity.
17. What is rust? Give the equations for formation of rust,
18. Why does the reaction rate of a reaction increases on raising the temperature?
19. Why should the light dependent reaction occur before thedight independent reaction?
20. How are arteries and veins structurally different from one another?
21. Differentiate betwsen medullated and a non-medullated nerve fibre.

22. Ifa5Nand 15 N forces are acting opposite to one another. Find the resultant force and
the direction of action of the resultant force. |
- Part - il
l. Answer any 7 questions: (Q.No.32 is compulsory) Tx4=28
23. Why a spanner with a long handle is preferred to tighten screws infieavy vehicles?

24. Draw a ray diagram 1o show the image formed by a convex lens when the object is
" placed between f and 2f. :

25. Write any three features of natural and artificial radioactivity.

26. Give an example each :

a) gas in liquid b) solid in liquid ¢) solid in solid d) gasin gas

a) The aquatic animals live more in cold region. Why?

b) Classify the following substances into deliquescent hydroscopic, conc.sulphuric
acid, copper sulphate penta hydrate; silica gel, calcium chloride and gypsum salt,

How do detergents cause water pollution? Suggest remedial measures to prevent this
pollution.

29. Draw and label the structure of oxysomes.
30. What are Okazaki fragments?
31. What is the importance of rain water harvesting?

32. The hydroxide lon concentration of a solution is 1 x 10~ M. What is the pH of the
_solution? - ’

27.

28.

Part - IV
IV. Answer all the questions:

33. a) Derive the ideal gas equation.
(OR) :
b) " What is nuclear reactor? Explain its essential parts and their functions.
34..a) Give the salient features of “Modem atomic theory"
(OR)
b)  Explain the types of double displacement reaction with example.
3%..a) With aneat labelled diagram, describe the parts of a typical angiospermic ovule.
: " (OR) .

b) How is the structure of DNA organised? What is the biological significance of
DNA?

IxT=21

LLLA L
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PART -1
12x1 =12

best answer N g
fhﬁ?;i?:ﬁh Shrinks to 50% of its real radius its mass remaining the same, the

II-.-.-a-un-pa-...,__

: the Earth wi
weight of a body on b) increase by 50%

a
2;3 geegrreeaa'ssee tl;; .a'_?sq’ff - fpincrease by 300%
| i BNS IS....ccaveiems
2: gagagggiit?imn ofa g?g:g:twe cyeither positive or negative d) Ee;?.
3. Inasimple circuit, why does the bulb glow whe_n you cinsg- the swltch?_ o
a) The switch produces electricity ) closing the_swrtch completes the circuit
c) closing the switch breaks the circuit”  d) the bulbis ge_ttlrjg charged
4 aprons are used to protect us from gamma radiations
a) Lead oxide b) Iron ) lead d) aluminium
5. Which of the following represent | amu?.
a) mass of a 0-12 atom b) mass of a hydrogen atom
d) mass of 0-16 a to'm

c)lthofthe massofac-12atom

_ 6 The basis of modern perodiclawis............. |
ajyatomic number b) atomic mass ¢) isotopic mass d) number of néutrons

7. “The number of components in a bionary solutionisx,...........

a).2 b)3 ¢4 d)5
8. 'The secondary suffix used in TIUPAC nomenclatureof an aldehydeis..........

a) -0l b) -oic acid c) -al d) - one
9. kerb's cycle takes place in........

a) chloroplast by mitocherdrial malrix

c) stomata d) innermutochendrial membrare
10. The segments of leech are’known as.. ...

‘a) metameres somites b) proglottids ¢) strobila d) all the above

11. To inc{ease the sugar p'rnduction in sugar canes they are sprayed with.............
a) aurin D) cytokinin . .@) gibberellins d) Ethylene :

12. The............ units from the back bone of the DNA
@) 5 carbon sugar ‘B)phosphate  ¢) nitrogenous bases d) sugar phosphate
. Part- 1l
ll. Aswer any. 7 quéstion. question no 22 is compulsary x2=14

9. Statenewton's second law ; :
4. ;I'nle DFI.'-'IiE."IS'e (If false give the correct statement) o
i :i The gram ati::mi-:T mass of an element has no unit ii) Molar mass of CO, is 42g
Answer the following questions using the data given below _
t}i ‘flnd R are correct, R explains the A | '
,:35 Scorrect, Riswrong iy Ajs wrong, Ris correct  iv) Aand R are correct, explain A
- se!'tron: An uncleaned Copper resse| js overed with greenish layer
€asion: copper is not attacked by alkali
4

10" - Science -FR-NK|- L& &Lh—1
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© Differentiate reversible and irreversibie reactions

“¥] Diaw and label the structure of oxysomes
“18. What is the shape of RBC in human blood?
~€¥F How can you determine the age of the fossils?
P71 Metion the diseases caused by tnbacco smoke - \
o & “uhat is stage? .
22. lfyou keeps ice al 0'C and water a1 0°C in either of your hands in which hand you will
feel more chillness? why?
PART - Il
ill. Answer any 7 question ( question no 32 is cumpu!snry ) o _w
- A List any four properties of light > o e
_ 847 Distinguish between the resistivity and conductivity of a cﬂnduutmn L o -
a@@ Name three animals which can hear ultrosonic vibration b) &piam Wh}.h ceilings
of concert halls are curved o )
26, Given an example each :
1} gas in liquid it) solid is liquid iii) solid+in solid iv) ga&iﬂ gas !
W1 How is ethanonic acid prepared from ethanol? glyan th&cher[ﬂcal equation

S _Match colums, 1, Il and Il correctly g
} I A SN J I
| Organs | Membranous eaveing . IS location
Brair Plaure %o | | abdominal cavity
Kiclrs ipSUls 4 e mediastinum
Hex: . -'-.-'ua:'unges: ) | endosed in thoracic cavity
i Pericardi. -’ | Cranial cavity

29, meduliaied and non- met]uﬁ.‘a!;ed nerve fibre leferentate
30 Write lhe rharamerlaﬁc of msgc.t Polinaled flowers

21 slale the :ipphraﬂbrisﬂ RHA fingerprinting technique
3¢ ‘Whalis the PH of % D:-:1Cr Molar solution of KOH?

' PART - IV

IV Answep all the question
Ef?[‘ilpacnbe Toekel propulsion (or)
hahsa nuctear reactor? Explain its essential parts with their function
Gwﬁf* the sane'ﬂ features of * modern atomic theory” (or)
- f.-;:f a1 slah. the reason for additions of causlic alkalic to bauxite are during purification
» | ofbouxite
% b) Along with cryalite and alumina, another substance is added to the electralyte
flure. name the substance and given one reason for the addition
3% Describe and name three stages of cellular respiration that aerobic organisms use to
obtain energy from glocose (or)
4) Tidalenergyis . ... type of energy
b) VWhat will happen if trees are cut down?

P W - - ﬂdva 'a E el i I I :-
L 1 5 U y
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paowor B St e ) o

i: = o = !_._ .._ .-l-- _l_i.- 2l -
oy |

¥ :l" '.; m wm T B) Rate of foree and ume » .
- Mcﬁw iy d) Rate of chinge of mass { -
2 The eye dufect ‘presbopia’ Gan be comected by T e
&) Convex lens b Concave lens  ©) Convex mimor  d)  Bitocal fonss P <
3 Siunk of essiance i

) LU

J....... is used for the trealmen! of cancer

Mﬂﬂ ~ _bfRadio coball ) Redio carbon

3  fo ) Is a Irkatomic molecule? é
Gl -_., K u Helilum o} Carbon ydrogen

fhe fo ing is the universal solvent? i
¢ "
b) Benzene cl Waﬁl . 4 d) Aicohol

gls ——- content in soap s
~ b) vitamin &% aci d) carbohydrate

‘rkhdwmm §
Vs d) flower

L)

b) Joule o ' Ohm

.-v-"
kb

e} Purkinje fibres d) Bundie of his
¢l Cerebrum d) Hypothalamus
¢) Nitroganous basesd) Sugar phosphale

met  ¢) Apri22 d) Oclaber 2
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l.
1

10.

1.

12.

I
13.
14.
15.

16

17,
18.
18.

www. waytosuccess.org

Choose the correct answer:

Impulse is equals to '
a) rate of change of momentum b) rate of force and time

c)- change of momentum d) rate of change of mass

Power of a lens is —4D, then it's focal leng_th is
a) 4m b) =40 m c) -0.25m d) -25m

The value of universal gas constant .
a) 3.81 Jmol" K-'b) 8.03J mol' K ¢) 1.38 J mol' K- d)/8.31.J moi*' K-

aprons are used to protect us from gamma radiation,

a) lead oxide b) iron c) lead d) aluminium
The number of periods and groups in the periodic tableare =~

a) 6,16 b) 7,17 c) 8,18 d) 7,18
Powdered CaCO, reacts more rapidly than flaky CaCO, because of

a) large surface area b) high pressure

c) high concentration d) high temperature

TFM in soaps represents content in soap.

a) mineral b) vitamin &) fatty acid d) carbohydrate
Which is formed during anaerobic respiration?

a) carbohydrate b) ethylalcohol  c¢) acid CoA d) pyruvate
Which one is referred as ‘Master Gland'?

a) pinealgland  b) pituitary gland , c) thyroid gland d) adrenal gland
The essential parts of a flower are

a) -calyx and corolla b) calyx and androecium
c) corolla and gynoecium . d) androecium and gynoecium .
We can cut the DNA with the help of
a) scissors b) restriction endonucleases
c) knife _ d) RNAase
‘Warld Ne Tobacco Day’ is observed on '
a) May 31 b) June 6 c) April 22 d) October 2
Part - I
Answer any 7 questions: (Q.No.22 is compulsory) Tx2=14

Define inertia - Give it's classification.

Why is tungsten metal used in bulbs but not in fuse wires?
When and where was the first nuclear reactor built?

Give any two examples for heterodiatomic molecules.
What is rust? Give the equation for the formation of rust.
Name the simplest ketone anq give its structural formula.
Why is the teeth of rabbit is called heterodont?

23 wiateam 100@email. com
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20,
g
22,

.
23.
24,
25.
26.
27.
28,

29,
30.

31.
32.

V.
33.

35.

www. wayiosuceess.org 24

(2) X Science
Define genetic engineering

How are e-wastes generated?
Calculate the pH of 0.0001 M HNO,?

Part - 1l
Answer any 7 questions: (Q.No.32 is compulsory) 7x4=28
Distinguish between ideal and real gas.

a) What is meant by electric current?

b) Name and define it's unit.

a) Define one roentgen.

b) Give the function of control rods in a nuclear reactor.
a) What is molar volume of a gas?

b) Write the different types of isotopes of oxygen andit's percentage
abundance.

Define combination reaction. Give one example for an exothermic reaction.
a) Draw and label the structure of oxisomes.
b) What is respiratory quotient?
Enumerate the functions of blood.
Which hormone requires iodine for it's formation? What will happen if intake of
iodine in our diet is low? '
What are the advantages of using biogas?
A sound wave has a frequency of 200 Hz and a speed of 400 ms~' in a medium.
Find the wavelength of the sound wave.
Part - IV
Answer all the questions: 3x7=21
a) i) Differentiate the eye defects myopia and hypermetropia.
i)  Write any two applications of concave lens.
(OR)
b) i} What do you understand by the term ‘Ultrasonic Vibration'?
i), . State three uses of ultrasonic vibrations.
iii) . Name three animals which can hear ultrasonic vibrations.

@) i)  Calculate the number of water molecule present in one drop of water

which weighs 0.18 g.
i) Derive the relationship between relative molecular mass and vapour
denaity.
(OR)
b) How is ethanol manufactured from sugarcane? Explain.
a) With a neat labelled diagram explain the structure of neuron
(OR)
b} Suggest measures to overcome the problems of an alcoholic.

ExRwEa
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10 - sw SCIENCE
Time : 3.00 Hrs, Marks : 75
Part-I
Answer all the questions. 12X 1 =12
1. One kilogram force equals to
a) 9.8 dypne b) 9.8 X 10* N c) 980 dyne d) 9.8 X 10*dyne
2. Sl unit of resistance is ,
a) mho b) joule c) ohm ' d) ohmmeter
3. Inthe nuclear reaction gt" _a=den o 1" the value of A & Z
a)8, 6 b) 8, 4 c) 4,8 d) 12, 6
4. Atoms of different elements having same number of ...............e. are.calléd'isotones.
a) neutrons b) atomic number c) atomic mass d) protons
5. Among the given species A", A* and A, the smallest one in size is ..i......0 0 2
a) A b) A* c) A d) 0

6. When pressure is increased at constant temperature, the solubility of gases in liquid

.....................

a) no change b) increases c) decréases d) no reaction
7. The endarch condition is the characteristic feature of

a) root b) stem ¢) leaves d) flower
8. Nerve cells do not posses

a) neurilemma b) sarcolemma c) axon d) dendrites
9. LH is secreted by

a) Adrenal gland b) Thyreid gland c) Anterior pituitary d) Hypothalamus
10. A sexual reproduction takes place through budding in .........ccceeuienes :

a) amoeba b) yeast" c) plasmodium d) bacteria
VL T i ve units form the backbone of the DNA. "7

a) 5 carbon sugar b) phasphate c) Nitrogenous bases d) sugar phosphate
12. Allfiles are stored inthe ..o X

a) folder b) box c) paint d) scanner

Part - II '
Answer any seven questions. (Q.No. 22 is compulsory) 7X2=14

13, Why does the sky appear in blue colour?
14, "Défine critical mass.
15. What is aqueous and non-aqueous solution? Give an example.

16. If the pH value of solution is zero then what will be the nature of the ﬁniution? Gwe
reason.

v O L]

17. Draw the label the structure of OXYSOMmes,
18. How does leech suck blood from the host?

RMI 10 - @yfefincd (EM) udmib -1
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19. Who discovered Rh factor? Why was it named so?

20. What is pollination? .
21. What do you understand by the term phenotype and genotype?
22, A torch bulb is rated at 3v and 600mA. Calculate its resistance.

Part - III
Answer any seven questions. (Q.No. 32 is compulsory) 7X4=28
23. i)Fillup: a) Opening a door : Moment of force, opening a water tap : ............ .
b) Pushing a bus by a group of people : Like parallel forces,
Tug of war @ .....coeiveiiuns :
ii) The power of a lens is -2D. Find the focal length of a lens.
24. Matchit:

a) Electric current - Volt

b) Potential difference -  Ohm meter
c) Resistivity - Watt

d) Electric power - Ampere

25. Difference between the sound and light waves.

26. a) Define - Relative Atomic Mass. b) Give any two examples for hetero diatomic
molecules.

27. How do detergents cause water pollution? Suggest remedial measures to prevent
this pollution.

28. i) Why are the rings of cartilages found instrachea of rabbit?

it) Define reflex arc. :
29. Draw the external structure of human heart and label the parts.
30. Define Ethnobotany and write its importance.
31. Explain about Gene therapy.
32. a) Give the function of .contralrods in a nuclear reactor.

b) Calculate the pH of 1.0 X 10~ molar solution of HNO,.

Part - IV

Answer all the questions. Draw diagrams wherever necessary. 3 X7 = 21
33. a) i) State Newton's law of motion. (5) i

ii) Write the uses of Telescope. (2) (OR)

b) Compare the properties of Alpha, beta, and gamma radiations.
34. a)i) Give the salient features of “ modern atomic theory’. (5)

i) Write any- two applications of " Avogadro's law. (2) (OR)

b) What is called homologous series? Give its characteristics.
35, 8) i) What is respiratory quotient? (@)™ ' ‘

ii) What is eothesion? (2)

iii) What are the effects of hybrid rigour in animals? (3) (OR)

b) i} What are the various routes by which transmission of human immuno deficiency
virus takes place? (3) ii) Enumerate the importance of forest. (4)
RMI 10 - engSefiusd (EM) udmid -2
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| 10 -su - " SCIENCE

Time ; 3.00 Hrs. Marks : 75

. F P g ' Part - I

Answer all the questions. 12X1=12
1. One kilogram force equals to Ay q8 x1e' ‘!‘9"" .
., ,2) 9.8 dyne b) 9.8 X 10 N c) 980 dyne d) 9.8 X 10*dyne
2, SIunit of resistance is : |

a) mho b) joule E{::hm d) ohmmeter
3. Inthe nuclear reaction ' __awkur 1" the value of A& Z

" a8, 6 - vf) 8, 4 c) 4,8 d) 12,06

4, Atoms of different elements having same number of ......coovvieses arécalled isotgnes.

a) heutrons b) atomic number. c) atomic mass d) protons
5. Among the given species A, A* and A, the smallest one In SIZe.is .. eosieminnnee s

) A - by A" ¢) A d)0
6. When'pressure Is increased at constant temperature; the solubility of gases in liquid

a) no change b(i'ncreaﬁes c) decreases d) no reaction
7. The endarch condition is the characteristic feature of

a) root stem ¢) leaves d) flower
8. ' Nerve cells do not posses

a) neurilemma sarcolemma c) axon d) dendrites
9, LH.Is secreted by

a) Adrenal gland b) Thyrold gland ﬁmterinr pituitary d) Hypothalamus
10, A sexual reproduction takes place through budding [ AR 29 4

a) amoeba by yeast c) plasmodium d) bacteria
11, The ....... Pl .. Units form the backbone of the DNA,

a) 5 carbon sugar b) phosphate ¢) Nitrogenous bases dj/ sugar phosphate
12, All files areestored in the ... :

gﬂnid_er b) box c) paint d) scanner
Part - II
Answer any seven questions. (Q.No. 22 is compulsory) 7X2=14

13, Why does the sky appear in blue calour? smjﬁ-wﬂa . Shot¥en woue \ength
14. 'Define critical mass, wacamasm MmajlL  Spa fistle Yga suatresn fu JLean senkie

viahs

15. What is aqueous and non-aqueous solution? Give an example. sa’vﬂi‘i; rhy
16. If the pH value of solution is zero then what will be the nature of the solution? Give

reason. pod o - 2
: '€ 0 shalle "
17. Draw the label the structure of oxysomes. E»
i leach suck blood from the host? . .
18. How does leech suck blo orradin

! & . “L:l‘:"‘nn
bet wadiote- RMI 10 - ey (EM) ubaid -1
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19, Who discovered Rh factor? Why was it named so? Lard ¢Yennen L wWenen |qnuo

20. What is pollination? Frorafan o} polien 1 vaing From ondhen o *E.H-thm
21, " What do you understand by the term phenotype and genotype? & akannal Cugpy artien
22, A torch bulb is rated at 3v and 600mA. Calculate its resistance. o4 & goablulow oGy

E2Y 4 3 2 T Rentic euf jaafion
. ot 1 l.-"-}“ Part - III
Answer any seven questions. (Q.No. 32 is cumpl.lli'ﬂr'f} 7X4 =28
23, i)Fillup: a)Openinga door : Moment of force, opening a water tap : P".‘:?f'.‘!"f:“
b) Pushing a bus by a group of people : Like parallel forces, ol

Tug of war : QoM K2, ?ﬂﬂ“d (ETES
i) The power of a lens is -2D. Find the focal length of a lens. 9 = JE: el

24. Matchit: £z -1:; = - Qe
a) Electric current - Volt %
b) Potential difference -  Ohm meter3
c) Reslstivity - Watt k
d) Electric power : Ampere |

25, Difference between the sound and light waves.
26. a) Define - Relative Atomic Mass. b) Give any two examples for hetero diatomic
molecules.
27. How do detergents cause water pollution? Suggest remedial measures to prevent
' this pollution.
28. 1) Why are the rings of cartllages found in trachea of rabbit?
li) Define reflex arc.
29. Draw the external structure of human heart and label the parts.
30. Define Ethnobotany and write its importance.
31. Explain about Gene therapy. '
32. a) Give the function of .contrel rods in a nuclear reactor.
b) Calculate the pH of 1.0 X 10+ molar solution of HNO,. P“ = L
Part - IV
Answer all the questions. Draw diagrams wherever necessary. 3 X7 = 21
33. a)I) State Newton's law of motion. (5)
ii) Write the uses of Telescope. (2) (OR)
b) Compare the properties of Alpha, beta, and gamma radiations,
34, a)i) Give the salient features of * modern atomic theory’. (5)
i) Write any two applications of *Avogadro’s law. (2) (OR)
~..b) What is called homologous series? Give its characteristics.
§5.- 4) 1) What is respiratory quotient? (2) “®
i) What is eothesion? (2) - . -8
lit) What are the effects of hybrid rigour in animals? (3) (OR) 4

b) i) What are the various routes b*,r which transmission of human immuno deﬁmenqr
virus takes place? (3) ii) Enumerate the importance of forest, (4)

RMI 10 - eybiud (EM) udamb -2
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WAY TO SUCCESS FIRST REVISION EXAM - 2023

STD-X :
TIME : 3.00 Hrs SCIENCE RS 125
HRAE R SECTION - A

I, Choose the correct answer 1221a12
1. Unit ol radioactivity is G

a) Roentgen  b) curle ¢) Booquerel dyAll the above
2 Which of the following denotas the high lemparature?

a) 1 celsius by 1 kelvin ) 1 Fahrenheit d) All are squal
3. nortia of a body depends on

4

5

6.

www.waytosuccess.org B

) weight of the object  b) accleration due o gravity of the planet

_ef mass ol the object ) Botha & b %
~ Which of the following s a triatomic molecule? %

TFM in soaps represents ........ content in soap.
a) mineral b) vitamin &) Tatty acid carbohydrate
Which is formed during anaerobic respiration o

a) Glucose  b) Hellum ) Carbon dioxide  d) Hydroges,
Molecular formula ol Blue ritriol Is .............. .
a) CaSo,-2H0 b) Gypsum c)Ca0 L 0

a) Carbohydrate b) Ethyl alcohol d) Pyruvate
Which of the following shows correct composil

a) plasma - blood + lymphocyte b) brinogen

¢) Lymph - plasma + RBC + WBC  , dy Blay dsma + RBC + WBC + platelets
To increase the sugar production in sufé nhey are sprayed with ........

a) Auxin b) cytokinin d) Ethylene

; d) Maize
tlal and inexhaustible source of energy I8 ...
¢) Wind energy d) Tharmal anergy
SECTION - B
seven Questions. Q.No. 22 Is compulsory Tx2=14

following stalements are true of false, If false explain why?

10 - SCIENCE - PAGE 1




“}‘ﬁ&nﬂsr@%é%g ible and irreversible reactions.

17. How is diastema formed in Rabbil?

18. Draw and label the slructure of oxysoma.

19. The complete events of cardiac cycle last for 0.8 sec. What s the timing for each event?
20. How can you determine the age of the fosslls?

21. What is stage?

22. Calculate the current through a 100w, 200v electric bulb in an electric circuit of your house
SECTION-C

Answer any seven Questions. Q.No. 32 is compulsory 7x4=28

23. Describe rocket propulsion.
.24, a) State Joula's law of healing. b) How does a fuse wire protect electrical appliances? _
25. a) Ais a silvery while metal. A combines with O* fo form B at 800°C, the alloy of Ais used | =
making the aricraft. Find A and B. : .
b} What is rust? Give the equation for formation of rust.
~26. What is a chemical equilibrium? What are ils characteristics?
_27. Write the importance of transpiration.
28, a) What is respiralory quotient? b) Write the overall equation of phﬂlésynlhes:s
29. How nerve impulses are transferred from ane neutron to next neutran?
30. Why is euploidy considered to be advantages fo both plants. aﬂd animalg@es
_31. With a neat labelled diagram, explain the techniques mvuluau in gene cloning.
‘;2 A solution is prepared by dissolving 45g of sugar in 185‘@{:\‘ wahr.,ﬁafcurate the mass
prercentage of solute. A 3\
SEC‘I‘I_Q,I!!,;: D )
Answer all the Questions in detall. { = 3x7=21
33. a) (i) What is an echo? (1) —
(ii} State two condtions necassamfnr heanng'»i[n echo (2)
(iii) What are the medical appfcauunmf echo? (2)
(iv) How can you calculamnjﬁgspeed gf sound using echo? (2) (OR)
b) &) What is power of Mmmnﬁ‘ﬁﬁm’nf eye? (2)
ii) Differentiate the éya d’ﬂacl§ Myopia and Hypermetropia. (3)
(ii) What s the value of the fiear point and far point of the human eye? (2)

/3‘ - A ji,\Deﬁngz_ @Igmmity (2)
- fii} Give the 55&%:1( features of “Modern atomic theory”. (5) (OR)
te soaps and detergents. (3)
n the mechanism of cleaning action of soap. (4)
the phases of menstrual cycle?. Indicate the changes in the ovary and
uterus, (5)
(lj) What is the role of parathormone? (2) (OR)
| Changes In lifestyle Is a risk factor for occurence of cardiavascular diseases. Can it be
modified? If yes suggest measures for prevention. (5) (OR)

(i) Solar energy Is a rerewable energy. How? (2)

10 - SCIENCE - PAGE 2
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V10S Virudhunagar District Common Examinations | | '—1 |88
WAY TO SUCCESHrst Revision Test - January 2023 R

virudhunagar

Standard 10
Time: 3.00 Hrs. SCIENCE Maximum Marks: 75
PART-1I
Note: i) Answer all questions. 12x1=12

iil) Choose the most suitable answer.
1) The eye defect 'presbyopia’ can be corrected by

a) Convex lens b) Concave lens  c) Convex mirror d) Bi focal lenses
2) The value of universal gas constant
a) 3.81 Imolt K! b) 8.03 J mal™ K"!
c) 1.38 I mol™! K*! d) 8.31 I mol™! K!
3) The frequency which is audible to the human ear is
a) 50 KHz b) 20 KHz c) 15000 KHz d}). 10000 KHz
4) The gram molecular mass of oxygen molecule is
a) 16g b) 18g c) 329 d) 17g
5) White enamel coating of our teeth is Ehe hardest substance in our
body.
a) Sodium phosphate b) Calcium phosphate
c) Potassium phosphate d) Ammonium phosphate
6) Which of the following are used as‘anaesthetics?
a) Carboxylic acids b).Ethers
c) Esters d) Aldehydes

7) Which is formed during anaerobic respiration?

a) Carbohydrate  b) Ethyl alcohol c) Acetyl CoA
8) Which one of the following is an 1UCD?

a) Copper - T b) Oral pllis c) Diaphragm d) Tubectomy
9) The term 'chromosomes'was first coined by

d) Pyruvate

a) T.H. Morgan b) R.C.Punnett

c) Waldeyer d) Watson and Crick
10) Pusa Komal is a disease resistant variety of

d) Sugarcane b) Rice c) Cow pea d) Maize
11) Pocso Act is introduced in the year

a) 2012 b) 2010 €) 2008 d) 2015
12) A renewable source of energy |s

a) Petroleum b) Coal ¢) Nuclear fuel d) Trees

P PART - 11
nswer any 7 questions: [Q.No. 22 is com
-NO. pulso

13) State Newton's second law. » TR
14)

Why does the sky appear in blue colour?
15) Define one calorie,

16) Give any two uses of ethanol.

17) Draw the structure of sperm and label the parts
18) What is photosynthesis and where in a cell does it occur?

19) What are synthetic auxins? Gjve gxamples,

www waytosuccess org wieteam 100@gmail com
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V10S
20y Define fripie-fEeion.

21) How is a cancer cell differen

22) Calculate the amount of energy relea
s fusion and results In a mass defect of 2 kg.

t from a normal cell?
sed when a radioactive substance

undergoe
PART - II1
Answer any 7 questions: [Q.No. 32 is compulsory] 7x4=28
23) What are the types of inertia? Give an example for each type.
24) List the merits of LED bulb.
25) Write any four features of natural and artificial radioactivity.
pourdensity.

26) Derive the relationship between Relative molecular mass and va
27) Classify the following compounds based on the pattern of carbon chain and
give their structural formula (i) Propane (ii) Benzene (ifi) Cyclobutane

(iv) Furan.
28) a) List out the parasitic adaptations in leech.

b) Who discovered Rh factor? Why was it named s0?
29) With a neat labelled diagram explain the structure of a neuron.
30) Write the physiological effects of gibberellins:

31) a) What is evolution?
b) Discuss the importance of biotechnology in the field of medicine.

32) Calculate the current and the resistance of a 100W, 200V electric bulb in an
electric circuit.

___PART-1IV
Answer ALL questions. Each question carries seven marks:
[Draw diagram wherever necessary]

33) a) List any five properties uﬂ'ight.
b) State Snell's law. (OR)
a) What do you understand by the term 'ultrasonic vibration'?
b) State three uses of ultrasonic vibrations.
c) Name four animals which can hear ultrasonic vibrations.

34) a) Inwhat way hygroscopic substances differ from deliquescent substances.
b) What is meant by binary solution?
¢) Define solubility. (OR)
a) Explain the types of double displacement reactions with examples.
b) If the pH of a solution is 4.5, what is its pOH?

35) a) How is the structure of DNA organised? What is the biological significance

of DNA?
b) What are Okazaki fragments?
(OR)
a) What are the various routes by which transmission of human immun
deficiency virus takes place? °

b) What are the contributing factors of obesity?

w194 9. ¥ou differentiate homologgus organs fremanaloam@argahsom

Ix7=21



T VAY TO SUREHFIVION FIRST REVISION TEST - 2023

T Standard X Reg No. |
SCIENCE
Time : 3.00 h Part - | Marks : 75
Chunsésthe correct answer: o e 12x1=12
1. The value of Avogadro number 216,023 x 10%/mal ) b) 6.023 x 10/mol

c) 6.023 x 10%mol  d) 6.032 x 10%/mol

2. Proton - Proton chain reaclion is an example of

ar fusion 2°b) Nuclear Fission c¢) Alpha decay d) [ decay

3. Kilowatt hour is the unit of

a) resistivily b) conductivity ¢) electrical energy  d) electrical power
4. group contain the member of Chalingen family.

a) 17 b) 18 d) 15
5. The normal pH of human blood is _

a) 9.1 b) 7.4)— c) 5.4 d) 4.5
6. Itis the common stgp of both aerobic.and anaerobic respiration,

a) Kreb cycle ) electron transport chain  d) nene of these
7. During transpiration there is loss of

a) CO, q ¢) 0, _
8. Which nervous band conne s the two cerebrai hemisphers of bram'!' <7

a) thalamus b) hypothalamus ) pons (-::I} corpus callosom)

8. Estrogen is secreted by

a) anterior pituitary b) primary follicle [c] Graff:anfall]‘c!eﬂd} Corpus luteum

10. Okasaki fragmenis are joined together
igase b) DNA polymerases. c) RNA
11. Cancer of the epithelial cells is called

a) Leukomia b) Sarcoma l:cl Carcinoma /7)
12. Which organism is considered to be the fossilbir

d) RNA polymerase

d) Lipoma

(@) Archaecpleryx) B) Eagle. c) Bat d) None of these
Part - Il
Il. Answer any 7 questions. (Q.No.22 is compulsory) 7x2=14
43, Define One calorie.
:M'” Match the following :
a) CO-60- = Ageof fnss:l‘%"
b) 1-131 - Function of heart v
c) Na-24, - Leukemia] — S Kih Cante i
d) C-14 - Thyroid 2 cﬂT; U;L.-a h)
18 State two conditions necessary for rusting of iron. __, .

|f the pH of the solution is 4.5, what is its pOH?
" Differentiate between vein and artery.

.‘I\wﬁ b, 4 h“:ﬂ{— o= 14 -:f\*g
Qe ¢ ) poti= 1% ? ';H:?.:a,?

18. Draw the given diagram and mark any two parts. -

(YF\ ré\%m
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1. Name the types of stem cells. LP) ,91 ‘1 U(

20. Write two diagnosis methods of HIV. --* pfp,fﬂ '

21. Whal is SPRITE?
22. A charge of 12 coulomb flows through a hulb in § second. What is the current through

the bulb? r“-,_ _
’ % Part - I "?/-"' = A4 Ay

. Answer anr 7 questions. (Q.No.32 s enmpuleery} Tx4=28
23, State Newton's Law of Motion.
24~ "a) Define power of a lens.
" b) What are the causes of Hypermetropia?
25-"a) Write any two applications of Doppler Effect.

b) State two conditions of necessary for hearing an echo.
26. How is ethanol manufaclured from sugarcane?
27-a) How does leech suck blood from the host?

b) Why are the rings of cartilages found in Arachea of rabbit?
28. Wnte the functions of chloroplast and mitochondria. A
29. Cfeeer!y neurones based on its structure, t'ﬂ"“ﬁ NQJ"‘
30" a) What does DNA stand fer'i-',_/-f"rg""2

) What is the biological significance of DNA? —
. Define Ethnobotany and write its importance.

bu‘.& .

32. 1.5 g solute is dissolved in 15 g of water to form a saturated sclution at 298 K. Find out

the solubility of the solute at the temperature, f.«.t

< /30

Part -1V Navh ] SC
IV. Answer all the questions. 319 _gULwlvlfﬂ'}? ——Z”'ﬂﬁ 21

T

-

Py

17

s,

_—

33. a) Differentiate Mass and Weight. >
b) Listany three properties of light. e i | ssloerdt
c) Write any two units of temperature (OR) =N =10
a) Listany merits of LED bulb~" ¥ St 0='01, .

b) Why does the sky appear in blug colour?.~
¢) Define any two units of Radicactivity, -

34 a) Give any two examples for trialomic molecule. —-._7 Hga /(;n Vi / ND g,[ja 2

b) List the applications of Avogadro's law.
c) Whatis Hydrocarbon? (OR)

a) Whatis:meant by Binary solution?

b) Complete the following :

D \CiBgy =%, CQOJ-CG'L)
i) 2NaF+ClL- _ ? 9Nl +re
i) Acid+Base —— 2 Salf/ & Hoo.

c) How is ethanoic acid prepared from Alcohol?
35 a) Give the importance of transpiration.
b) Name the types of plant hormones.
c) Whatis pollination? Classify the types of pollination. (OR)
a) Discuss the importance of biotechnology in field of medicine.
b) What is melastasis?

c) What are the consequences of deforestation?
e e e
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